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Regression Worksheet #2
AP Statistics

1) A consumer organization has reported test data for 50 car models.  We will examine the association between the weight of the car (in thousand of pounds) and the fuel efficiency (in miles per gallon). Shown is the regression output.
a) What is the LSRL?
b) Identify and interpret the correlation coefficient.
c) Interpret the slope.

d) Interpret the coefficient of determination.
e) Predict the fuel efficiency for a car that weighs 2500 pounds.

2) A study compared the body weight (kg) of a child to his/her metabolic rate.  Descriptive statistics gives us the following results. 
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a) Find the equation of the LSRL.

b) Find and interpret the coefficient of determination.

c) Find predict the metabolic rate of a child who weighs 17.5 kg.
3) A study of nutrition in developing counties collected data from the Egyptian village of Nahya.  Here are the mean weights for 170 infants in Nahya who were weighed each month during their first year of life.

Age (in months)
1
2
3
4
5
6
7
8
9
10
11
12

Mean Wt. (kg)

4.3
5.1
5.7
6.3
6.8
7.1
7.2
7.2
7.2
7.2
7.5
7.8

a) Plot the data. Find the regression equation and correlation coefficient.

b) Find the residuals and graph a residual plot.

c) What does the residual plot tell you about the data?  

Given the data sets:


x1 
1
3
4
7


x2
2
1
6
5


y1
2
1
6
5


y2
1
3
4
7

4) Find the correlation coefficient and LSRL for each data set.  What do you notice?

5) Add 5 to each number in x1.  Find the correlation coefficient for data set 1.  What do you notice?

6) Multiply 5 to each number in x1.  Find the correlation coefficient for data set 1.  What do you notice?

Predictor	Coef		StDev		T	P


Constant	48.7393		1.976		24.7	0.000


Weight		-8.21362	0.6738		-12.2	0.000





S = 2.413	R-Sq. = 75.6%		R-Sq.(adj) = 72.3%
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